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o Watch Video Solution
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9.8 3¢ ©02%90 39 §aH20 ABC &' tan A = /3 900 sin A

cos C+cos AsinC
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10. B ¢ 002580 39 B5hz0 ABC & tan A = 1/3 @00 cos
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16. DB S AR Q0D
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D.O
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B. sin 60°

C. tan 60°

D. sin 30°
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24. e 38080,
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27. DeND §cﬁ)§s&oc%. sin 15%sec 75°
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o Watch Video Solution



https://dl.doubtnut.com/l/_9j7yYeUqSAXZ
https://dl.doubtnut.com/l/_NHiaL5PGxmD4
https://dl.doubtnut.com/l/_9To75TKvEC7X
https://dl.doubtnut.com/l/_uW1oobnWjfkl

37.308 3@ &5°89%8050¢%: (sec? @ — 1) (cos ec’d — 1)

° Watch Video Solution

1 — cosé@

38. (cos ecl — cot 0)2 =TT o0 9 I°DOCS.
cos

o Watch Video Solution

1+sinA
39. —%n — sec A + tan A 3PH0G.
1 —sinA

o Watch Video Solution

1—tan? A
40, = 2 2 an? A S04,
cot2 A —1

o Watch Video Solution



https://dl.doubtnut.com/l/_uW1oobnWjfkl
https://dl.doubtnut.com/l/_WpoMMqNAP8Sw
https://dl.doubtnut.com/l/_opGxbZIYoK0H
https://dl.doubtnut.com/l/_8rkSixeeIi2F

41. — cos 0 = tan 6. sin 0 SAPHOCG.

COs

o Watch Video Solution

42.sec A (1-sin A)(sec A + tan A) c‘()5°§‘)§60z50639.

o Watch Video Solution

43,
(sinA + cosecA)? + (cos A + sec A)? = 7 + tan® A + cot? A

29 QBPD0L06.

o Watch Video Solution



https://dl.doubtnut.com/l/_8rkSixeeIi2F
https://dl.doubtnut.com/l/_YF58kmfy83r1
https://dl.doubtnut.com/l/_oBLCFKO2gtyP
https://dl.doubtnut.com/l/_CZSddkRDU99J

44, (1- cos theta)( 1+ cos theta)(1+cot”(2) theta)‘:“osﬁ‘)ﬁoaﬁo&.

o Watch Video Solution

45.sec + tanf = p 0B sech — tan g DN D0es?

o Watch Video Solution

k> —1
k2 +1

46. If cos ecl + cot @ = k, then prove that cos § =

o Watch Video Solution

cot @ — cos @ B cosecld — 1

47. Prove that =
cot @ + cos 6 cosecl + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_td568W6yuh9M
https://dl.doubtnut.com/l/_BdBNZ1Ds9Rjh
https://dl.doubtnut.com/l/_m4xo9rfE1dId
https://dl.doubtnut.com/l/_WrD76jWrhEVQ

sinf — cos @ + 1 B 1

48. Prove that = th
sinf + cosf — 1 secld — tané@ [use the
identity sec? = 1 + tan? 0]
o Watch Video Solution
49, Prove that
1
cosecA —sinA)(secA — cos A) =
( ) ) tan A + cot A

o Watch Video Solution

1+ secA B sin® A

50. Prove that =
sec A 1—cosA

o Watch Video Solution



https://dl.doubtnut.com/l/_WrD76jWrhEVQ
https://dl.doubtnut.com/l/_gSt0b4mVvduA
https://dl.doubtnut.com/l/_GUmt6F2QoMSa
https://dl.doubtnut.com/l/_FhNATGEilhx0
https://dl.doubtnut.com/l/_RzwvXc8pEVSn

1+ tan2 A 1+t 2
51. Show that l = & —tan’ 4
14+ cot2A 1—cotA

o Watch Video Solution

52.(sec A-1/sec A+ 1)=(1-cos A/ 1+cos A) 9 AEPN0L06.

o Watch Video Solution

53.sin A = cos A @900 A Jensded Gies 30Hodk .

o Watch Video Solution

54, 4sin’f—1=0 e0ond (0 <90)0 0D IDHD

cos? 0 + tan® 6 eDHD B30,

[ o Watch Video Solution


https://dl.doubtnut.com/l/_RzwvXc8pEVSn
https://dl.doubtnut.com/l/_NygfuyjvlgK6
https://dl.doubtnut.com/l/_9GHetysLdEov
https://dl.doubtnut.com/l/_UKRUTFcMQ48U

55.tan2 6 — =109 SPD0G.

cos2 6

o Watch Video Solution

0 . 0 0
s, _Seclo’  |sim72 ) tands B0Y),  JEDHD
cos ecT5’ cos 18° cot 57°
§c63§6&oc?9.

o Watch Video Solution

57. tan theta = sqrt 3 (theta @é)))%‘eao ) €903 1 + cos theta

DD 3%)06.

o Watch Video Solution



https://dl.doubtnut.com/l/_UKRUTFcMQ48U
https://dl.doubtnut.com/l/_XIAkoTyTiFVj
https://dl.doubtnut.com/l/_c0D0pCo1oqcg
https://dl.doubtnut.com/l/_JAWKYSdx9mgD
https://dl.doubtnut.com/l/_y1YYnOaWdxqV

58. Show that 1_—W= secH — tané.
1+ sin@

o Watch Video Solution

59, tan (A + B) =1 INVleloney)
V3

cos(A—B):T,OO<A+B<90,A>B 0B A

30805 B © densen 380k

o Watch Video Solution

60.

cos2 90

tan® 60 + 4 cos® 45 + 3sec>30 + 5
cose

Qe Ke30B06.

° Watch Video Solution

30 + sec60 — cot? 30


https://dl.doubtnut.com/l/_y1YYnOaWdxqV
https://dl.doubtnut.com/l/_nSSNCoep6F78
https://dl.doubtnut.com/l/_1qyBFNjaqEnL

61.5in 0 = cos(90 — 6)e9c0E H2PBI°? JODK?

o Watch Video Solution

62. AB 08050 C en AABCS® 090898 Sraeer00ad sin( A+B /2)

+ cos ( A+B /2) = cos C/2 + sin C/2 €90 QBD0DAW.

o Watch Video Solution

VcosecA+1  +/cosecA — 1
VeosecA —1  +/cosecA + 1
QAEIFR0DAW.

63. =2 tan A = &

o Watch Video Solution



https://dl.doubtnut.com/l/_1qyBFNjaqEnL
https://dl.doubtnut.com/l/_KwL0RYgoz13D
https://dl.doubtnut.com/l/_vydqQn3wU1Oz
https://dl.doubtnut.com/l/_NIBB0QNY47sN
https://dl.doubtnut.com/l/_hqdJMoPSMuyp

COoS & COS &
64. =m, — = n, €900
cos 3 sin 3

(m2 + nz)cos2 a = m’n2e9 AUETPD0NS.

o Watch Video Solution

1
65. sin A = —— 0803 cot B =1 @900 sin(A + B)=1 €9

V2
SPRAN.A 08050 B 30 ©hw STearen.

° Watch Video Solution

66. cos 6 TNZ), NSO tan § & BT,

o Watch Video Solution

1
67.cos 0 = E@O})é 4 4+ cot 0D N AW.


https://dl.doubtnut.com/l/_hqdJMoPSMuyp
https://dl.doubtnut.com/l/_h4nknVeWpzZ6
https://dl.doubtnut.com/l/_UJmmVhQwsEJc
https://dl.doubtnut.com/l/_xJ5qRRrXeXhg

o Watch Video Solution

68. (acosf,0) 0Baw (0, asing) 2oL NG BN

a0 .

° Watch Video Solution

69. §£30c03D: cos 76° — sin 14°

o Watch Video Solution

tan 73°

70. 5e30c0dm:
cot 17°

o Watch Video Solution



https://dl.doubtnut.com/l/_xJ5qRRrXeXhg
https://dl.doubtnut.com/l/_DfbvFLCuluVd
https://dl.doubtnut.com/l/_drSqWokaytsh
https://dl.doubtnut.com/l/_2TbYqMwGZFSj
https://dl.doubtnut.com/l/_4NCcgpvgjdyc

1
71. tan A = E 003 tan B = /30900 sin A. cos B +

cos A. sin B 9e05eD i e, (A, B < 90°)

o Watch Video Solution

72.
(sin A + cos ecA)® + (cos A + sec A)* = 7 + tan® + cot® A

09 AEPN0L06.

° Watch Video Solution

73.25inz = /3 €900 X DEVS0eS?

° Watch Video Solution



https://dl.doubtnut.com/l/_4NCcgpvgjdyc
https://dl.doubtnut.com/l/_P7JJuzNsxwzs
https://dl.doubtnut.com/l/_CKILjwDOrcLv

1 3

SO80%D cos B © Denden £ 0. (A, B < 90°)

o Watch Video Solution

75.
(siné — cos 600)2 + (cos 6 — secé?)2 — cot?f + tan® 6 — 1

099 AEPN0L06%.

o Watch Video Solution

76.tan’ 45° + COT?30°Qendd gmg‘&o&.

o Watch Video Solution



https://dl.doubtnut.com/l/_Hn04eZh0h25y
https://dl.doubtnut.com/l/_OAn9jiE4sy77
https://dl.doubtnut.com/l/_IloqHLm9czUb
https://dl.doubtnut.com/l/_0RZdgptOuohT

77.tan®> A — sin? A = tan® A. sin® A @90 3°H05.

o Watch Video Solution

78. cosecl + cot@ = p aite p2+1/p2—1:se09 (AN

SN0,

o Watch Video Solution

79.5in 15°. sec 75° QeneS Eadf adaw.

o Watch Video Solution

80. cos A = 7/25 @900 sin A 8a%D cosec A 0 DN N0c.

AN HNAODRD?


https://dl.doubtnut.com/l/_0RZdgptOuohT
https://dl.doubtnut.com/l/_cGKw1sy7sMv4
https://dl.doubtnut.com/l/_2u31WJYC3wgr
https://dl.doubtnut.com/l/_7Kwanv3CI0t5

° Watch Video Solution

81.
(sin A + cos ecA)® + (cos A + sec A)* = 7 + tan® + cot? A

099 AEPN0L06%.

o Watch Video Solution

82. 2:% ©02)5% 32020 ABC &5 Z/C ©0205890 AB=13 204D, BC=5

004, 900 cos® B + sin? A Henase Qoes?

o Watch Video Solution

8.  tan?60° + cot?30° /sin? 30° + cos? 60° DN

LM .


https://dl.doubtnut.com/l/_7Kwanv3CI0t5
https://dl.doubtnut.com/l/_WLHjhVBiPRbM
https://dl.doubtnut.com/l/_EQleW65UjMet
https://dl.doubtnut.com/l/_thRwnDL89hRA

o Watch Video Solution

84.cosf/1 —sinf + 1 — sinf /cos @ = 2secl & HPYD.

° Watch Video Solution

85. cos ec39°, sec51° — tan51°. cot 39° Dendd HedoS0dk.

o Watch Video Solution



https://dl.doubtnut.com/l/_thRwnDL89hRA
https://dl.doubtnut.com/l/_gBcx1ndKKrVA
https://dl.doubtnut.com/l/_gju5ECsvuVTp

86.sin C = 3/5 €900 cos A

w|ot x| ot o o w

o

Answer:



https://dl.doubtnut.com/l/_fjJMpmhnwV7s

l & Watch Video Solution

87.sin® 0 cos O + cos® 0. sin 6 =

A.sin@ + cos 6

B. sin @ cos 6

C.sinf

D. cot 6

Answer:

° Watch Video Solution

88.sinf = cos 00

A. QY


https://dl.doubtnut.com/l/_fjJMpmhnwV7s
https://dl.doubtnut.com/l/_WSfixtQukUp6
https://dl.doubtnut.com/l/_Uxjg5CULzafr

B. 30°

C. 45°

D. 60°

Answer:

o Watch Video Solution

B.1

C.tan> + cos’?

D.O


https://dl.doubtnut.com/l/_Uxjg5CULzafr
https://dl.doubtnut.com/l/_klaBd1Qgo7mN

Answer:

° Watch Video Solution

90. cos 60°. cos 30° + sin 60°. sin 30° Qend

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_klaBd1Qgo7mN
https://dl.doubtnut.com/l/_povtN0HRM0JK

91.tan@. cot @ = secH . X 90N x =

A. cos @

B.sec

C.tanf

D. cot 6

Answer:

o Watch Video Solution

92. cos 1°. cos 2°. cos 3°. . .. cos 180° &D% IO

A. 180

B.1


https://dl.doubtnut.com/l/_gVjHxJiGM4Ou
https://dl.doubtnut.com/l/_vJXGCTZ4PHCL

D.O

Answer:

o Watch Video Solution

93. z = sinf, y = cos f 0N sinf, cosf © cﬁ@“&cﬁa§6?a°<€§

x,y ©6 TP

A.:I:2—y2:1

Answer:


https://dl.doubtnut.com/l/_vJXGCTZ4PHCL
https://dl.doubtnut.com/l/_NH97hR5EXGua

° Watch Video Solution

94. cos 12° — sin 78° =

Answer:

o Watch Video Solution

95. £ = cosech + cot 0, y = cosec) — cot § 9005 & S0H

636 DBIS.


https://dl.doubtnut.com/l/_NH97hR5EXGua
https://dl.doubtnut.com/l/_OzRJVFMO49Ge
https://dl.doubtnut.com/l/_gM3DCblboQk1

A. x+y=0

B. x-y=0

C. x/y=1

D. xy=1

Answer:

o Watch Video Solution

96. cos(A-B) =

A.cos Acos B +sin Asin B

B.cos Asin A+ cosBsinB

C.sin Asin B-cos Acos B

D.cos Acos B-sin Asin B


https://dl.doubtnut.com/l/_gM3DCblboQk1
https://dl.doubtnut.com/l/_87b2w6wykR2O

Answer:

o Watch Video Solution

97. cos (900 — 0) =

A. cos 0
B.sin @
C. cos ecl

D.tané@

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_87b2w6wykR2O
https://dl.doubtnut.com/l/_nAMm8mI3RjjO

98. AABC & sin C = 3/5 €900 cos A =

Wlot x|ot o oY w

Answer:

o Watch Video Solution

99. tan’ 6 — sec’ 6=

A1l


https://dl.doubtnut.com/l/_d5PKDQbnfELu
https://dl.doubtnut.com/l/_iwv2eS2YFvIO

C.O

Answer:

o Watch Video Solution

100. sec(900 — A)=

A.cos A
B. cosec A
C.sin A

D.tan A

Answer:



https://dl.doubtnut.com/l/_iwv2eS2YFvIO
https://dl.doubtnut.com/l/_tZfIINyhy9wp

{ " Vvaldn vidco >oiution

101. cos ecl + cot @ = 5 €900 cos ecd — cot 6=

Answer:

o Watch Video Solution

102. 2 = 2sech, y = 2tanf 9o 2 — y’=

A.O


https://dl.doubtnut.com/l/_tZfIINyhy9wp
https://dl.doubtnut.com/l/_5NH2uXQyNsLu
https://dl.doubtnut.com/l/_meg5hcPAaPoF

C.4

D. 2

Answer:

o Watch Video Solution

103. /3 tanf = 1 900 H=

A. 60°
B. 90°
C. 45°

D. 30°


https://dl.doubtnut.com/l/_meg5hcPAaPoF
https://dl.doubtnut.com/l/_3qwQWsOpQBI8

Answer:

o Watch Video Solution

104. (sec 600) (cos 600) =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3qwQWsOpQBI8
https://dl.doubtnut.com/l/_sSyW0Tfukuzn

105.5in(60° + 30°) =

A2

D.1

Answer:

o Watch Video Solution

1
106.secO + tanf = 3 €900 sec @ — tan 0=

A1l


https://dl.doubtnut.com/l/_xfTZC0RFByKF
https://dl.doubtnut.com/l/_hG61NcoNxcgq

C.2

Answer:

o Watch Video Solution

107. cos (900 — 9) =

A.cos 6
B.tan@
C. cos ect

D.sin®

Answer:



https://dl.doubtnut.com/l/_hG61NcoNxcgq
https://dl.doubtnut.com/l/_IChlmwv6oFyU

{ " Vvaldn viaco >oution

5
108.cot A = T 900D sin A+ cos A=

N
13

B 12
13

C5
13

o 20
13

Answer:

o Watch Video Solution

109. 83 $08 365’ sin x H AP P Dend

A3
4


https://dl.doubtnut.com/l/_IChlmwv6oFyU
https://dl.doubtnut.com/l/_DD68jCDlwU2S
https://dl.doubtnut.com/l/_a2odP8BNGgqe

N
S| ot ol o w

Answer:

o Watch Video Solution

110.5in60 = cos 6(0 < 6 < 90) 9003 tan b + cot O=

A.2,/3

2
B. —

V3

C.2

D.1


https://dl.doubtnut.com/l/_a2odP8BNGgqe
https://dl.doubtnut.com/l/_opwA1ZE9f57o

Answer:

° Watch Video Solution

Ml.sech + tanf = 3 €900 secd — tan O=

Ww|lot Wik Wl Wl

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_opwA1ZE9f57o
https://dl.doubtnut.com/l/_6luHu4KInjZn

12. How many different sums can be formed with the
following coins , a rupee a fifty paise , a twenty five paise , a

ten paise, a five paise

A. —absin @

B. —casinf
bcsin @

C.

D. —b’sin6

l\D|)—l [\D|l—l l\D|I—l t\:|r—\

Answer:

o Watch Video Solution

113. tan6 &oﬁ& Qe cos ech DS’



https://dl.doubtnut.com/l/_BAucvqsTAe72
https://dl.doubtnut.com/l/_QQF0AJYYKjOz

1

. Vveosec?d — 1
0

Veosec?d — 1

0

Vcosec?d — 1
2

" JVcosec?d — 1

A

B. cos ec

C.2cos ec

D

Answer:

o Watch Video Solution

114. & 308 83 HB8D0H06: i) sin?20° + sin? 70°=1 ii)
log, (sin90°)=1.80& S’ DB0DIB DB?

A. i) SoredD

B. ii) s30°¢530

C. i) 0803w ii) en


https://dl.doubtnut.com/l/_QQF0AJYYKjOz
https://dl.doubtnut.com/l/_quYJXmqczgjS

D. i) s0803W ii) &0 Y.

Answer:

o Watch Video Solution

115. 2 DD AKD0SB50

A. sin 90°
B. cos 0"
C.sec90°

D. cos 90°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_quYJXmqczgjS
https://dl.doubtnut.com/l/_iFDQMjfWogSW

116.\/1—c052A/1—|—cot2A

A.sin A

B.+/sin A
C.sin’ A

D.sin* 4

Answer:

o Watch Video Solution

117. tan 36°, tan 54° + sin 30°=

>
N = | w

@


https://dl.doubtnut.com/l/_8PmBvETIvczY
https://dl.doubtnut.com/l/_N1ZLWNwgwqz8

Answer:

o Watch Video Solution

118.sin A=24 /25 €900 sec A



https://dl.doubtnut.com/l/_N1ZLWNwgwqz8
https://dl.doubtnut.com/l/_OSixL78xabAr

{ " Vvaldn viaco >Oution

119.4cos? 0 — 3 = 0 €902 sin =

) W
| (CYI
|~

o

2|5l -

Answer:

o Watch Video Solution

120. cos ec + cot 6 = 2, €900 cos 6=

A3
5


https://dl.doubtnut.com/l/_OSixL78xabAr
https://dl.doubtnut.com/l/_uGlsVrPJYGmr
https://dl.doubtnut.com/l/_eDeqRyZfAklx

N
gl w|ot o

Answer:

° Watch Video Solution

3
121. cos (A + B) =0 803D cos B=§ €900 A=

A. 15°
B. 60°
c. 30°

D. 45°


https://dl.doubtnut.com/l/_eDeqRyZfAklx
https://dl.doubtnut.com/l/_m7pdoT5eGKBZ

Answer:

° Watch Video Solution

122. sin x = 5/7 0900 cosec X =

>

EN TR § I OIS Y IEN SR §

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_m7pdoT5eGKBZ
https://dl.doubtnut.com/l/_AkEFRQlyAwnj

123. /A = 75°/ B=30"(0)', @900 tan (A - B)=

Sl

Answer:

o Watch Video Solution

1
124.sec + tanf = 3 €900 sec @ — tan 0=

W


https://dl.doubtnut.com/l/_ZvlXm6duffO0
https://dl.doubtnut.com/l/_FS54z7CA5Max

C.1

D.O

Answer:

o Watch Video Solution

125. 258 (i0SPE0E 20 WO HFIGS AP H0eD B0k
€20

A. 120°

B. 20°

C. 360"

D. 90°

Answer:


https://dl.doubtnut.com/l/_FS54z7CA5Max
https://dl.doubtnut.com/l/_y6HwDu1dE37t

o Watch Video Solution

126.sec 8 — tan =3 900 sech + tan O=

@

N
W~ |~

=

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_y6HwDu1dE37t
https://dl.doubtnut.com/l/_rSTgrK4iFNT0

127.808 HeIS0S BC=

A

A Tv/3
B. 7+/2
C.7

D.5

Answer:



https://dl.doubtnut.com/l/_SK30j420aMEx

l & Watch Video Solution

128. sin 20 = cos 30900 0=

A. 15°

B. 18°

c.21°

D. 24°

Answer:

o Watch Video Solution

3
129.cos 0 = 5 €900 senb=

A3
4


https://dl.doubtnut.com/l/_SK30j420aMEx
https://dl.doubtnut.com/l/_nl0tK81DoxR8
https://dl.doubtnut.com/l/_FcBK7vveDNS4

@

N
= = O
Slo e o

o

Answer:

o Watch Video Solution

130. cos 60° + sin 30° dend

3
A V3
2

B.1

C. cos 90°

D. B o8odw C


https://dl.doubtnut.com/l/_FcBK7vveDNS4
https://dl.doubtnut.com/l/_6ZTVQeA9IT74

Answer:

° Watch Video Solution

131.sec A + tan A =1/5 900 sec A-tan A =

>
u

@

o N
gl ok o =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_6ZTVQeA9IT74
https://dl.doubtnut.com/l/_ESp3OTWOa03p

132.tan 6 @)ﬁ& sﬁj"z@‘);ﬁ)o

A.secf
B.cot 0
C. cos ecl

D. —tané

Answer:

o Watch Video Solution

133. (sec2 0 — 1) (cos ec’d — 1)=

A.O

B.1


https://dl.doubtnut.com/l/_WVMoIqwczPuG
https://dl.doubtnut.com/l/_Cg3xr5ArL6Yl

C.tan’ 0

D. cot? @

Answer:

o Watch Video Solution

1
134.5in(90 — A) = 3 900 A DED

A. 30°
B. 45°
c. 60°

D. 90°

Answer:



https://dl.doubtnut.com/l/_Cg3xr5ArL6Yl
https://dl.doubtnut.com/l/_da4DK9ieqNys

{ " Vvaldn viaco >oution

135.sin A =5/13 Q3% Q8N D0



https://dl.doubtnut.com/l/_da4DK9ieqNys
https://dl.doubtnut.com/l/_6Jo7q73WYt2F

i b

Answer:

o Watch Video Solution

136.sin” 60° — sin? 30° Dend

Bl w N = =

Answer:


https://dl.doubtnut.com/l/_6Jo7q73WYt2F
https://dl.doubtnut.com/l/_VZVDk1pyTX5s

o Watch Video Solution

137.sinf = % €900t an 0=

b
A ——
va? + b?
B 0
JaZ — 12

c a
JaZ —

5 a
VB — a2

Answer:

o Watch Video Solution

138. cos? 6 + sin? 0DenD


https://dl.doubtnut.com/l/_VZVDk1pyTX5s
https://dl.doubtnut.com/l/_hg1TYVG3Pony
https://dl.doubtnut.com/l/_tA1FJnwltAGO

A0

Answer:

o Watch Video Solution

139. senf = cos 0 e900S 2tan O + cos 6 dend

>

@

O N
g ot |


https://dl.doubtnut.com/l/_tA1FJnwltAGO
https://dl.doubtnut.com/l/_WFOp79P2IVF1

Answer:

° Watch Video Solution

140. cosecld = 2 B cot § = /3p, ) 0 TR0

€900 'p' DV

A2
B.1

C.O

D. /3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WFOp79P2IVF1
https://dl.doubtnut.com/l/_rarCiJX5O8tT
https://dl.doubtnut.com/l/_8qBHvtgso62e

141. tanthea + sec = 8 ©90NSsecH — tan NEND

A.8

C.6

D. 64

Answer:

o Watch Video Solution

( 11
142. —
cot?0  cos26

) IO

A 11

B.O


https://dl.doubtnut.com/l/_8qBHvtgso62e
https://dl.doubtnut.com/l/_WLdpF1pM8Ikc

Answer:

o Watch Video Solution

143. sec2A = cos ec(A — 270)
©H0$e0)

A. 35°

B. 37°

c.39°

D. 21°

Answer:

900  LADeNS

(2

A


https://dl.doubtnut.com/l/_WLdpF1pM8Ikc
https://dl.doubtnut.com/l/_pfVLqdSYSFjz

° Watch Video Solution

144.1 — sec® A /cosec®A — 1=

A tan® A
B. —tan* A
C.1

D. —sec’ A

Answer:

o Watch Video Solution

145. sin 6 &D% 6628 IO


https://dl.doubtnut.com/l/_pfVLqdSYSFjz
https://dl.doubtnut.com/l/_tPFLc6b4aWkh
https://dl.doubtnut.com/l/_mvSNeKvHDJGM

Answer:

o Watch Video Solution

7 1 —sinf

146. = — Q(1+sinf) ——(1 — cos )=

6.tan 0 g P00 (1 + sin )1—|—cos0( cos 6)
AL
"8
88
7
. o
79
49
D. —

(=)
=~


https://dl.doubtnut.com/l/_mvSNeKvHDJGM
https://dl.doubtnut.com/l/_NRBDHLvEtnCk

Answer:

o Watch Video Solution

cos 0

147.5tanf = 4 900 5sinf — 3 sin @ 4 3 cos 6end

AO

N

o
N e g =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NRBDHLvEtnCk
https://dl.doubtnut.com/l/_oeTtJ0LJtBE2

3 1
148. sec 0 = 3kDBOW tanf = E@Q)oé (Kz — ﬁ)&’)@é

A9

B.3

Answer:

o Watch Video Solution

149.sin6 /1 + cos 0 =

60
cos8 + cos 6

Al-—

sin @

B.1—
cos 0


https://dl.doubtnut.com/l/_vy2WMVOh9T2s
https://dl.doubtnut.com/l/_wQxlVTyLKJeI

cos 6

C.1-—
sin 0
cos 0
_ sin6
7 sin
Answer:

o Watch Video Solution

150. APQR ®w3) e0885een PQ 500050 R €900 (tan (
P+Q/2))=

A.sin(R/2)

B. cos(R/2)

C. cot(R/2)

D. tan(R/2)

Answer:


https://dl.doubtnut.com/l/_wQxlVTyLKJeI
https://dl.doubtnut.com/l/_O2M5puvdJMfN

o Watch Video Solution

151.2tan 30° / 1 + tan® 30°Qen

A. sin 60°
B. cos 60°
C. tan 60°

D. A o8odw B

Answer:

° Watch Video Solution

152. sin(z — 20)° = cos(3z — 10)%e9016 'X'De0d


https://dl.doubtnut.com/l/_O2M5puvdJMfN
https://dl.doubtnut.com/l/_eoFQkZWP4nXB
https://dl.doubtnut.com/l/_yNhQrP99j4O6

A. 60

B.30

C.45

D.35.5

Answer:

o Watch Video Solution

153.

,0<6<90° 0BE), 118 Densd

sec
Al

B.2


https://dl.doubtnut.com/l/_yNhQrP99j4O6
https://dl.doubtnut.com/l/_yEK26NItVL3R

Answer:

° Watch Video Solution

154. cos® 17° — sin? 73065005% IO

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yEK26NItVL3R
https://dl.doubtnut.com/l/_tAzKCfedvVAg

155. A = 30° @200 sin 2AH “coéaééﬁ‘ng‘b

@ >

N

§|| |<| D | =
[ [\W)
NS w

Answer:

o Watch Video Solution

156. 508 a3°¢3 eI 0506, sin 45° + cos 45°


https://dl.doubtnut.com/l/_ek5Yh6trTbIg
https://dl.doubtnut.com/l/_WOSM4dqHu2VM

Answer:

o Watch Video Solution

157. @03t $4Hz0 ABC &, ©028e0 'C' H¢ 3. Tan A =

8/15 e900e5 cos e’ A — 1 Jend

A O

5 61
- 225

C.225/64

D. 289/64

Answer:


https://dl.doubtnut.com/l/_WOSM4dqHu2VM
https://dl.doubtnut.com/l/_O0YMnVH45sT1

o Watch Video Solution

1
158. Etam2 45" = sin® 00050 'A' ©ANTERD 90N A e

A. 60°
B. 45°
c. 30°

D. 15°

Answer:

° Watch Video Solution

159. sin(450 + 0) — Cos (450 — 0):


https://dl.doubtnut.com/l/_O0YMnVH45sT1
https://dl.doubtnut.com/l/_kZExYfTg2QvR
https://dl.doubtnut.com/l/_DXXjv9eLudfT

A.2sin6

B.O

C.1

D.2cos 6

Answer:

o Watch Video Solution

160.tanf = 1 €900 5sinf + 4 cos 6 /5sin 6 — 4 cos 6 QNS

A.9

C.1

D.O


https://dl.doubtnut.com/l/_DXXjv9eLudfT
https://dl.doubtnut.com/l/_wxCEp297Qfmw

Answer:

° Watch Video Solution

161. cos 20 = sin 40 SBOKD 20508050 40 OPVTEFPBS 6 DD

A. 60°
B. 45°
C. 15°

D. 30°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wxCEp297Qfmw
https://dl.doubtnut.com/l/_GAkLEQHAb3xO

162. 6 e €9000952)) 8 tan 6 VIR AKD0LDBL.

A. 90°
B. 60°
C. 30°

D. (°

Answer:

o Watch Video Solution

163.sinz = cos z, 0 < x < 90™(0)’ 90N x=

A. 30°

B. 90°


https://dl.doubtnut.com/l/_2dlVL7MamIsi
https://dl.doubtnut.com/l/_iGwIztYZMjfO

D. 45°

Answer:

o Watch Video Solution

164.25sin 0 = sinZ 0 dend 6

A. QY

B. 45°

c. 30°

D. 60°

Answer:

0S8 PGP,



https://dl.doubtnut.com/l/_iGwIztYZMjfO
https://dl.doubtnut.com/l/_6f2a942fyDe4

{ " Vvaldn viaco >Oiution ]

165. sin 45°. cos 45° + cos 60° = tan 0 €902050DenS

A.0°

B. 30°

C. 45°

D. 60°

Answer:

o Watch Video Solution

166. S08 D0 OOt ON=x, PN =y, OP=r,/ PON = # 0805®

/PNO = 90° e900& cos 6=


https://dl.doubtnut.com/l/_6f2a942fyDe4
https://dl.doubtnut.com/l/_3khHpWjqQ9xW
https://dl.doubtnut.com/l/_Kgr5WnFHuRFR

A. x/r

B.y/r

C.r/x

D. y/x

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Kgr5WnFHuRFR
https://dl.doubtnut.com/l/_xOEzftng6O1p

167. tan 6=

A. x/y

B. y/x

C.r/x

D.rly

Answer:

o Watch Video Solution

168. sin 6. cos ecl + cos 0. secf + tan 6. cot 0=

A3

B.1


https://dl.doubtnut.com/l/_xOEzftng6O1p
https://dl.doubtnut.com/l/_HsdDwdUA3R01

C.sin#f. cos 6. tan @

D. Q&0

Answer:

o Watch Video Solution

169. sin 6. cos ecd = = 90N x =

A0



https://dl.doubtnut.com/l/_HsdDwdUA3R01
https://dl.doubtnut.com/l/_jyYULn1eOa1G

{ " Vvaldn viaco >oiution

170.sin 0 = % €900 cos O=

B.b/a

b2 — a2

D. b-a/b

Answer:

o Watch Video Solution

12
171.sin 0 = eR e900Jtan 0=


https://dl.doubtnut.com/l/_jyYULn1eOa1G
https://dl.doubtnut.com/l/_D5Q0QPjGXdGi
https://dl.doubtnut.com/l/_HC2h2eiLP5El

S 12
c 13
12

12

Answer:

o Watch Video Solution

172.sin 6. secl =

A.tan6

B. cos ect

C.cot 6

D.sin#. cos 6


https://dl.doubtnut.com/l/_HC2h2eiLP5El
https://dl.doubtnut.com/l/_xc2NGRagW07g

Answer:

° Watch Video Solution

173. /1 + cot? 0=

A. cos ec20

B.1 -+ cot@

C.secf

D. cos ect

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_xc2NGRagW07g
https://dl.doubtnut.com/l/_t7LwpNXbOe7h

13
174.secl = T €900 sin O=

Answer:

o Watch Video Solution

175. tan(90 + B) = — cot § &I QoHIrQ) wdodrioH¥e

tan 135° DenS K30 oD Jewd

1
A —

V3


https://dl.doubtnut.com/l/_2F1jBLHQZ8hI
https://dl.doubtnut.com/l/_oJ7T9CzgHRKy

B./3
C.—+/3

Answer:

o Watch Video Solution

176. /1 + sin A. /1 — sin A=

A.sin A
B.1 —sin’A
C.cos A

D.1


https://dl.doubtnut.com/l/_oJ7T9CzgHRKy
https://dl.doubtnut.com/l/_hWmSWHkeLZzO

Answer:

o Watch Video Solution

177.sin(90 + 6)=

A.cos 6
B. —cos @
C.sinf

D. —sinf

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hWmSWHkeLZzO
https://dl.doubtnut.com/l/_M80RmOgb0T0g

178. tan2 30° + 2 cot269” Dend
A 2
"3

B.2

Answer:

o Watch Video Solution

179. sin? 75° + 20052750 =

A 75

B. 150


https://dl.doubtnut.com/l/_If6HUDfm7fJC
https://dl.doubtnut.com/l/_tHV0i8q2MfJx

C. tan? 75°

D.1

Answer:

o Watch Video Solution

180.sin* @ — cos? 6=

Al

B.cos’ 0 — sin 0

C.2sin0 — 1

D. 2sin’ 0

Answer:



https://dl.doubtnut.com/l/_tHV0i8q2MfJx
https://dl.doubtnut.com/l/_GZiK0IlXwk3B

{ " Vvaldn viaco >oution

1
181.tan @ = —— €900Jcos O=
V3

A owm »
&I §||M M|§| CY

o

Answer:

o Watch Video Solution

182. (1 + tand)’ =

A.sec’ 0


https://dl.doubtnut.com/l/_GZiK0IlXwk3B
https://dl.doubtnut.com/l/_faT9GiuaDbqa
https://dl.doubtnut.com/l/_vKTeTnW0mrwn

B.sec’ 6 + 2tan

C.sec’ 0 + tan® 0

D.sec? 0 + tan6

Answer:

o Watch Video Solution

183. tan 0 &0 sec § ©¢5 BeDP

A Vvsec2 — 1

secf
B sec
Vsec2 — 1
C. L
Vsec2 — 1

D.v/sec’6 — 1


https://dl.doubtnut.com/l/_vKTeTnW0mrwn
https://dl.doubtnut.com/l/_pmoXHNjdSSGm

Answer:

° Watch Video Solution

184.5 sin A = 3 900 sec’ A — tan® A=

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pmoXHNjdSSGm
https://dl.doubtnut.com/l/_Y5nQK9e31Dyi

185. (sinf + cos 9)2 + (sinf — cos 9)2=

A.4sinf + cos 6
B.2
C.2sin? @ + 4cos’

D. 2sin’ 0

Answer:

o Watch Video Solution

3
186. cos 6 = %&60&» 6 eaoﬁsaéw €900 4sin® @ + tan’ @

NS

A3
4


https://dl.doubtnut.com/l/_zehaSVxorYXL
https://dl.doubtnut.com/l/_q7C1mDa7wXKP

B.1

w| ot w|

Answer:

o Watch Video Solution

187. 5630 0%, AABC & /B = 90°, /C = 0 900 tanf =
[ |

L
4


https://dl.doubtnut.com/l/_q7C1mDa7wXKP
https://dl.doubtnut.com/l/_N6QpnU0uNywh

Answer:

o Watch Video Solution

188. sin(A-B) = 1/2, cos(A-B) = 1/2 €900 A =

A. 60°
B. 15°
c. 30°

D. 45°


https://dl.doubtnut.com/l/_N6QpnU0uNywh
https://dl.doubtnut.com/l/_ocdUlkQQGYjJ

Answer:

° Watch Video Solution

189. cos 0° + sin 90° + /2sin 45°Ae0

A0

B. 2+4/2

C.4

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ocdUlkQQGYjJ
https://dl.doubtnut.com/l/_WWYAIwm33rwk

190. 3 sin” 45° + cos? 60°end

A2

Answer:

o Watch Video Solution

191.sin( — 0)=

A.sin@

B. cos 0


https://dl.doubtnut.com/l/_xKtqEY79VWD5
https://dl.doubtnut.com/l/_O2JERizZ1s2d

C.—cos@

D. —sinf

Answer:

o Watch Video Solution

192.sin* 0 — cos® =

A.sin® 0 — cos? 0

B.2sin% 6 — 1

C.1— 2cos’0

D. QD
Answer:



https://dl.doubtnut.com/l/_O2JERizZ1s2d
https://dl.doubtnut.com/l/_75VQjFS9ckWl

{ " Vvaldn vidco >Oiution

193.tanf + cot § = 2 esoNStan’  + cot? =

A 4

B.2

C.6

D.1

Answer:

o Watch Video Solution

194. tan 60° — tan 30° Qend

A.%—\/E


https://dl.doubtnut.com/l/_75VQjFS9ckWl
https://dl.doubtnut.com/l/_r4ffDDktbGkF
https://dl.doubtnut.com/l/_baev617Icbr1

@

N

| @Taa\'*

o

Answer:

° Watch Video Solution

195.asin6 = , beos § = y oW $08 TS DA Hesg?

A b*z? + a?y? =1
B. b%z? + a’y® = ab?
C. bx+ay=ab

D.a’z? + b*y® = a’b?


https://dl.doubtnut.com/l/_baev617Icbr1
https://dl.doubtnut.com/l/_7lp8PicUQY1x

Answer:

° Watch Video Solution

196. (1 + tan? 600)2=

Al
B.2
C.4

D. 16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_7lp8PicUQY1x
https://dl.doubtnut.com/l/_zEhkZQ6wSy50

197. sin(A-B) = 1/2, cos(A-B) = 1/2 €900 A =

A. 15°

B. 30°

C. 45°

D. 60°

Answer:

o Watch Video Solution

198. sin® 0 + sin 6 cos® #=

A. —cos 6

B. —sinf®


https://dl.doubtnut.com/l/_bdYiKl5HaZd0
https://dl.doubtnut.com/l/_wttbRyNV53Ke

C.sinf

D.cos 6

Answer:

o Watch Video Solution

199.0° < 0 < 90° 900 sin 6 + cos 06628 IO

A.

B.

V2
1
V2

C.1

D. 2

Answer:



https://dl.doubtnut.com/l/_wttbRyNV53Ke
https://dl.doubtnut.com/l/_Kx3BywsFNpwC

{ " Vvaldn viaco >Oution ]

200. + B = 90° 805w a = 25@0Dc6cos2 a + sin? B=

A1l

B.O

D. 2

Answer:

o Watch Video Solution

201. AABC 00258 8292:08° £b = 90° 508050 tan C = 5/12

€900 §g3630 podavu


https://dl.doubtnut.com/l/_Kx3BywsFNpwC
https://dl.doubtnut.com/l/_RclIFr7UhpMd
https://dl.doubtnut.com/l/_ek7NqJcBkO0d

A. 16

B.13

C.21

D.17

Answer:

o Watch Video Solution

1
202.tanf = —— €907 sin 0 + 3 cos? #=
V3

A1l
B.2
C.3

D.4


https://dl.doubtnut.com/l/_ek7NqJcBkO0d
https://dl.doubtnut.com/l/_rdTOxnONBZWU

Answer:

° Watch Video Solution

203. cos? 00 + cos? #60°=

w >
oGS m G BT

N

o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rdTOxnONBZWU
https://dl.doubtnut.com/l/_m7ZhKgpigqXV

204. sec’ . cos® 0=

A. —cos @

B.cos 6

C. —sin#f

D.sin @

Answer:

o Watch Video Solution

205. A, B 008t sin (A -B)=1/2, sin A =1/2 900 B=

A. 30°

B. 45°


https://dl.doubtnut.com/l/_XiR9cf8N0LS2
https://dl.doubtnut.com/l/_6VMLlkPXsE4I

c. 60°

D. (°

Answer:

o Watch Video Solution

206. AABC & a=3, b=4, c=5 €900 cos A=

N

O
Ak w|lot |w o w

Answer:



https://dl.doubtnut.com/l/_6VMLlkPXsE4I
https://dl.doubtnut.com/l/_r7ZRUSbquyZ2

{ " Vvaldn viaco >Oution

207.sec A. Sqrt(1 — sin? A)+

A.cos A
B.sec A
C.0O

D.1

Answer:

o Watch Video Solution

208. sec® 35° — cot? 55°=

A.O


https://dl.doubtnut.com/l/_r7ZRUSbquyZ2
https://dl.doubtnut.com/l/_LghdKxO1VyLD
https://dl.doubtnut.com/l/_trdeRr7XKwpf

B.1

D. 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_trdeRr7XKwpf
https://dl.doubtnut.com/l/_0hpF5H03aa7a

Answer:

° Watch Video Solution

210.180° < 0 < 270° 902005 6 €0C% SN

A. Q1

B. Q2

C. Qs

D. Q4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0hpF5H03aa7a
https://dl.doubtnut.com/l/_uRxDr7x1cFRx

211.sin 0. cos 8 = K900 sin @ + cos 0=

D.sql + 2K

Answer:

o Watch Video Solution

212. tan” 60° + 2tan? 45" = ztan 45° €900 x=

A.O

B.5


https://dl.doubtnut.com/l/_NMJk38puCVm8
https://dl.doubtnut.com/l/_BBso3WUfm7Vm

C.1

D. 2

Answer:

o Watch Video Solution

213. (sin” 47°) + sin” 43°=

A.O
B. >0
C.1

D. QED0SSEw.

Answer:



https://dl.doubtnut.com/l/_BBso3WUfm7Vm
https://dl.doubtnut.com/l/_HTlRWMxaqwII

{ " Vvaldn viaco >Oution

V14 tan® 6

214. =

V14 cot?6

A.cos 6

B.secfd

C.tan6

D. cot 6

Answer:

o Watch Video Solution

215. tan? 0. cot? 6=


https://dl.doubtnut.com/l/_HTlRWMxaqwII
https://dl.doubtnut.com/l/_x8qygziBs03W
https://dl.doubtnut.com/l/_YlEidJDBsn2G

A.cos 6

B.secf

C.O

D.1

Answer:

o Watch Video Solution

216. sin 240°=

N w >

o

l\°|§| M|§§||M §||H


https://dl.doubtnut.com/l/_YlEidJDBsn2G
https://dl.doubtnut.com/l/_Oo5LQJBfbO2q

Answer:

o Watch Video Solution

217. (1 + cot? 450)2=

A4
B.2

C.1

D.1/2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Oo5LQJBfbO2q
https://dl.doubtnut.com/l/_zyDnYrEN16zQ

218.1 — tan®30° /1 4 tan® 30°=

A 1
2
B. 1
C.0

D. 2

Answer:

o Watch Video Solution

219. cos ec’6 / cot § — cot =

A.cot 6

B. cos ecl


https://dl.doubtnut.com/l/_gEWYtWZHsix3
https://dl.doubtnut.com/l/_d6kQ0svbmgeQ

C.secl

D.tan®

Answer:

o Watch Video Solution

220. \/(sec:c + tanz) /secx — tan:z:)=

A.secx + tanx
B.secx — tanx
C.2tanx

D.2secx

Answer:



https://dl.doubtnut.com/l/_d6kQ0svbmgeQ
https://dl.doubtnut.com/l/_G1YgxmSi8uRd

{ " Vvaldn vidco >Oution

221. 4sin 30°. sec 60° = xtan 45° €900 x=

A.O

B.1

C.3

D.4

Answer:

o Watch Video Solution

222. sin 60%cos 30° + cos 60°. sin 30° Qend

Al
2


https://dl.doubtnut.com/l/_G1YgxmSi8uRd
https://dl.doubtnut.com/l/_j8pBNhRDSHEy
https://dl.doubtnut.com/l/_oeeAtzK87lY3

N

o

EIRENF

Answer:

o Watch Video Solution

3 3
223.5in(A + B) = %, cos B = % 9000 A DV

A. 45°
B. 60°
c. 30°

D. 90°


https://dl.doubtnut.com/l/_oeeAtzK87lY3
https://dl.doubtnut.com/l/_r5goOpSdVxl5

Answer:

° Watch Video Solution

sec 60° _

cot 45" )

224.tan 45" / cos ec30° +

Al—-
B.1
C.2

D21
2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_r5goOpSdVxl5
https://dl.doubtnut.com/l/_HWslCghkrLbq

1 1
225.cos(A — B) = 3 sin B = E €900 A DDV

A. 15°
B. 105°
c.90°

D. 60°

Answer:

o Watch Video Solution

226. cos 75°9en S

A. sin 15°

B. —sin 15°


https://dl.doubtnut.com/l/_O46fqdtcopeZ
https://dl.doubtnut.com/l/_QWNjbWY6lMyM

C. cos 15°

V3
D. =5~

Answer:

o Watch Video Solution

227. (1 + tan? A) (1 — sin? A):

A.sec® A
B.cos’ A
C.1

D.1 —sin’ A +tan® A

Answer:



https://dl.doubtnut.com/l/_QWNjbWY6lMyM
https://dl.doubtnut.com/l/_v3bbjPpsJQ75

{ ' Vvaldn viaco >Oution

228. tan 30°

Answer:

o Watch Video Solution

229. sin” 45° + cos? 45° + tan® 45°=

A2


https://dl.doubtnut.com/l/_v3bbjPpsJQ75
https://dl.doubtnut.com/l/_9fgMT9kjdVp6
https://dl.doubtnut.com/l/_osy3CMS9msKT

B.1

C.3

3
D. —

V2

Answer:

o Watch Video Solution

230.sin* A — cos* A /sin® A — cos® A=

A.sin? A — cos®> A
B.1
C.sin* A

D.cos* A


https://dl.doubtnut.com/l/_osy3CMS9msKT
https://dl.doubtnut.com/l/_0TKEDSZTQoIo

Answer:

° Watch Video Solution

1
231.sinf = 3 €900 cos 36 /2=

>

S ISR N

w

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0TKEDSZTQoIo
https://dl.doubtnut.com/l/_msJojSDl7ytO

232.c0s(90 — 6)=

A. cos @
B.sinf
C. —sinf

D.secf

Answer:

o Watch Video Solution

V1 —sin’0

233.tané. =

v1 — cos?6

A.sin @

B.cos 6


https://dl.doubtnut.com/l/_v10x4WIIzS2h
https://dl.doubtnut.com/l/_GJWc6pP3WgAg

C.secl

D.1

Answer:

o Watch Video Solution

1
234.secf + tanf = 5 €900 sin 0=

13

B 12
" 13

c 13
T 12



https://dl.doubtnut.com/l/_GJWc6pP3WgAg
https://dl.doubtnut.com/l/_lo5QtzbrToWG

{ " Vvaldn viaco >Oution

235. (sec 45° + tan 450) (sec 45° — tan 45O)=

A1l
B.O

C.2

D. 2¢/2

Answer:

o Watch Video Solution

236. 'sin 30"(0)+cos 30"(0) '=

@


https://dl.doubtnut.com/l/_lo5QtzbrToWG
https://dl.doubtnut.com/l/_0SUrBeO14keJ
https://dl.doubtnut.com/l/_DvEWHoCwVh8K

Answer:

o Watch Video Solution

237. \/ cos ec’f — cot? 6=

A. cos ecl — cot 0
B. cos ecf + cot 0
C.1

D.O


https://dl.doubtnut.com/l/_DvEWHoCwVh8K
https://dl.doubtnut.com/l/_aVwaqe0W4pAN

Answer:

o Watch Video Solution

238. tan A &0 sin A ©& g0

sin® A
sin A

A /1

sin® A
sin A
sin A
C. PR
1 —sin“A
sin A

D.
v1-—sin?A

B.q/1+

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aVwaqe0W4pAN
https://dl.doubtnut.com/l/_ONs2Sxo452cp

239.1/1 —sinf 4+ 1/1 4+ sinf=

A 2tan0
B.2sec’ 0
C.2cos ec’f

D.2cot? 0

Answer:

o Watch Video Solution

240.sec + tan @ = 4 900 cos 0=


https://dl.doubtnut.com/l/_Sl6RF76lYDaK
https://dl.doubtnut.com/l/_OjaRlFXJ1Wxb

15
17

17

Answer:

o Watch Video Solution

241. cot? 0 = 3 €900 cos ech=

A4

B.2

C.3

D.1

Answer:



https://dl.doubtnut.com/l/_OjaRlFXJ1Wxb
https://dl.doubtnut.com/l/_Bl1MHjDROLQr

{ " Vvaldn viaco >oiution

242. tan 0°=

A1l

Answer:

o Watch Video Solution

243.cos @ = — cos 0 90N 0=

A. 60°


https://dl.doubtnut.com/l/_Bl1MHjDROLQr
https://dl.doubtnut.com/l/_eSHCOxcWkyEr
https://dl.doubtnut.com/l/_mquwl9RQOhXq

B. 45°

C. 30°

D. 90°

Answer:

° Watch Video Solution

244.sinf = %, cosf = 2 €900 cot f=

A. ab/cd
B. bc/ad
C.ca/bd

D. ad/bc


https://dl.doubtnut.com/l/_mquwl9RQOhXq
https://dl.doubtnut.com/l/_NF1PzWhTYJpH

Answer:

o Watch Video Solution

1
245. A ©90)) €00 0805 tan A = % 9000 sin A=

WL
2

B.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NF1PzWhTYJpH
https://dl.doubtnut.com/l/_kUjTKNdP6ygm

246.asinf = x,bcos 0 = y@omé(%)z + (

A -1
B.O
C.2

D.1

Answer:

o Watch Video Solution

1
247.sin A = — 900 tan A
V2

A3

B.4



https://dl.doubtnut.com/l/_lJOgnpwIemm7
https://dl.doubtnut.com/l/_zb7dHs8szRJM

C.1

D.1/2

Answer:

o Watch Video Solution

248. sec @ = cos ec 900D 0 DeNd

A. 90°

B. 45°

c. 30°

D. 60°

Answer:



https://dl.doubtnut.com/l/_zb7dHs8szRJM
https://dl.doubtnut.com/l/_ySB9JpifDB38

{ " Vvaldn vidco >oiution

Veosec?d — 1
9.
cot 0

24
A.1 -+ secf
B. cos ecf + cot 0

C.cos @

D.tané@

Answer:

o Watch Video Solution

sin @
250. =
1 — sin?6

A.tan@


https://dl.doubtnut.com/l/_ySB9JpifDB38
https://dl.doubtnut.com/l/_S9HSELRguGuW
https://dl.doubtnut.com/l/_o9ntYQvNLyvy

B. cos ech

C.cot 6

D.secf

Answer:

o Watch Video Solution

251 Vsec? —1
| sect

A. cos ect

B.sin®

C.cosec — cot 0

D.2secf


https://dl.doubtnut.com/l/_o9ntYQvNLyvy
https://dl.doubtnut.com/l/_JPodH76KlRnY

Answer:

o Watch Video Solution

252. 2 = 2cos ech, y = 2 cot  ®@ondz? — y3=

A4
B.O
C.1

D. 2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JPodH76KlRnY
https://dl.doubtnut.com/l/_waBqdk3F4dwp

3
253.cos(A + B) = 0,cos B = % L9000 A=

A. 60°
B. 180°
c.15°

D. 115°

Answer:

o Watch Video Solution

tan@
254, =

v/1+ tan? 6

A.tanf/1 + tan6

B 1
" tané



https://dl.doubtnut.com/l/_EhaUC08MeIpz
https://dl.doubtnut.com/l/_XGZJ021F4dWd

C.cot thet

D.sin®

Answer:

o Watch Video Solution

255.1/1 — cos* @ /cos 6 =

A.tan6
B.cos 6
C.sectn

D. cot 6

Answer:



https://dl.doubtnut.com/l/_XGZJ021F4dWd
https://dl.doubtnut.com/l/_NrWDLON3kqb1

{ " Vvaldn viaco >Oiution

1
256. =

\/1+ tan?6

A.sin@

B. cos 6

C.secf

D. cos ect

Answer:

o Watch Video Solution

257.cos 6. tan 6=

A.cos 6


https://dl.doubtnut.com/l/_NrWDLON3kqb1
https://dl.doubtnut.com/l/_tOFegZeh0PDs
https://dl.doubtnut.com/l/_GyUmhNbkN3fB

B. cot 6

C.siné

D. cos> 6

Answer:

o Watch Video Solution

258.5in(180 + §) = — sin @ 900 sin 225"=

>

Sl

w
|

-

N

o

EIREN


https://dl.doubtnut.com/l/_GyUmhNbkN3fB
https://dl.doubtnut.com/l/_Tg00LRdZ0mED

Answer:

o Watch Video Solution

259. sec” 33° — cot? 57°=

A0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Tg00LRdZ0mED
https://dl.doubtnut.com/l/_tlmPyxsh5bnJ

260. cos® 6 + sin® 6=

A.1 4+ sin® . cos® 6

B.1 — 3sin® 6. cos® 6

C.1 — 3sin%6. cos? 9

D.1 + 3sin® 0. cos® 0

Answer:

o Watch Video Solution

0 1
261. — = —— 90 cos O=
2 \/5

AO

B.1


https://dl.doubtnut.com/l/_Ys3EuOGoA42u
https://dl.doubtnut.com/l/_h6LV3fxRZaYM

Answer:

o Watch Video Solution

1
262.cos 0 = 3 €900 cos 0 /2=

>

w
CYI M|<| NG
w

D.1

Answer:



https://dl.doubtnut.com/l/_h6LV3fxRZaYM
https://dl.doubtnut.com/l/_ajxPkykKO4TD

{ " Vvaldn viaco >Oiution

263. cos 0=

A.1— sin® @
B.sin?@ + 1
C. cot 6 / cos ect

D. cos ecl / cot 0

Answer:

o Watch Video Solution

264. cos 0° + sin90° + /3 cos ec60°Dend

A2


https://dl.doubtnut.com/l/_ajxPkykKO4TD
https://dl.doubtnut.com/l/_HFY2dZGhjpDl
https://dl.doubtnut.com/l/_Pt8mK2qRrWdE

B.3

C.4

D.1

Answer:

o Watch Video Solution

265. cos 60°. cos 30° — sin 60°. sin 30° Dend

A1l

0
N = =

o


https://dl.doubtnut.com/l/_Pt8mK2qRrWdE
https://dl.doubtnut.com/l/_uS8L0OE6o3lQ

Answer:

° Watch Video Solution

266. tan 0=

1
" cot 6

B. \/seczﬁ -1

sin @

A

" cos @

D. 233

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uS8L0OE6o3lQ
https://dl.doubtnut.com/l/_slxVqDCWFboe

267. v/sec’ A + cos ec® A=

A.cos A+sin A
B. sec A *cosec A
C.tan A-cot A

D.1

Answer:

o Watch Video Solution

268. \/3tanf = 1 €900 O=

A. 30°

B. 45°


https://dl.doubtnut.com/l/_7XFRL1BiziVK
https://dl.doubtnut.com/l/_XS1kAnP2pc4N

c. 60°

D. 90°

Answer:

o Watch Video Solution

269. \/ cos ec’f — sin?  — cos® 0 =

A.cot 0
B.tanf
C.secl

D. cos ec

Answer:



https://dl.doubtnut.com/l/_XS1kAnP2pc4N
https://dl.doubtnut.com/l/_MRQKYKtOZH47

{ " Vvaldn viaco >Oiution

270. \/1 — cos?6 /1 + cos” 6=

A.sin@

B. v/sinf
C.sin’ 0

D.sin @

Answer:

o Watch Video Solution

271. cos ec60° * cos 90° =


https://dl.doubtnut.com/l/_MRQKYKtOZH47
https://dl.doubtnut.com/l/_dvkri2KwmBA0
https://dl.doubtnut.com/l/_sfu5wZC6d6Re

@

C.0

D.3

Answer:

o Watch Video Solution

272.5in 81°=

A. cos 9°
B. cos 81°
C. —cos 9°

D. PG§C6C0


https://dl.doubtnut.com/l/_sfu5wZC6d6Re
https://dl.doubtnut.com/l/_sZwbn4NIv30d

Answer:

° Watch Video Solution

273.tan 0 = /3 @900 sec O HEVD

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sZwbn4NIv30d
https://dl.doubtnut.com/l/_AC2EYCVRz2HQ

274.cot? 0 — e
sin“ 0

A1l

C.0

D. 2

Answer:

o Watch Video Solution

275.1/secf — tanf =

A.sec — tan@

B.secd + tan®


https://dl.doubtnut.com/l/_ZeO04kwNVvaR
https://dl.doubtnut.com/l/_SL5wCMyQzCuD

C.sec’0 — tan’ 0

D.1

Answer:

o Watch Video Solution

276.sin29° — cos 61° &D% IO

Al

C.O

D.1/2

Answer:



https://dl.doubtnut.com/l/_SL5wCMyQzCuD
https://dl.doubtnut.com/l/_cH0ywz44lRjc

{ " Vvaldn viaco >oiution

277.tan1% tan2°. tan3°. ... . tan 890&03%0‘3&1)35

A1l
B.O

C.2

Answer:

o Watch Video Solution

278. AABC ¢ tan(B+C / 2)=

A. cot A/2


https://dl.doubtnut.com/l/_cH0ywz44lRjc
https://dl.doubtnut.com/l/_zadtjUxpLM4o
https://dl.doubtnut.com/l/_QFUoLcHZBJUh

B.tan A/2

cot A

Answer:

o Watch Video Solution

279.sec A = cosec B €900B A + B =

A. 90°
B. 18°
C. 360"

D. 0°


https://dl.doubtnut.com/l/_QFUoLcHZBJUh
https://dl.doubtnut.com/l/_UpquIui6RfWJ

Answer:

° Watch Video Solution

280.tan (15" + B) = /3 €900 B=

A. 60°
B. 45°
c. 30°

D. 0°

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UpquIui6RfWJ
https://dl.doubtnut.com/l/_QqpD4UNuTrhm

281.308 TS DB sin 6 e Fayed)?

A /2

Answer:

o Watch Video Solution

282. \/(sece + 1)(secf — 1)=

A.sec

B.sec’ 6


https://dl.doubtnut.com/l/_MqdJpGhgxtiJ
https://dl.doubtnut.com/l/_TXmP2c46zdlm

C.tan’ 0

D.tan®

Answer:

o Watch Video Solution

283. cos ecl + cot = 2 €900 cos ec — cot 0=

Al

N

o
NG ST

Answer:



https://dl.doubtnut.com/l/_TXmP2c46zdlm
https://dl.doubtnut.com/l/_JC9nTWdVbhRV

{ " Vvaldn vidco >oution

284. 308 QS B cos O DD A AH?

w
Wk N~ | w

D.O

Answer:

o Watch Video Solution

285.5in 6, cos 6 ©S HEDNIBE0

A.sin?0 + cos’0 = 1


https://dl.doubtnut.com/l/_JC9nTWdVbhRV
https://dl.doubtnut.com/l/_cOYV6SKFRTRz
https://dl.doubtnut.com/l/_jNpCfXpVkG3Y

B.sin?60 = 1 — cos 6
C.cos’f =1 — sin’ 0

D. P35

Answer:

o Watch Video Solution

1
286.sinA = — tan B=1sin (A+B) =


https://dl.doubtnut.com/l/_jNpCfXpVkG3Y
https://dl.doubtnut.com/l/_vi2P8j5srLxO

Answer:

o Watch Video Solution

287.808 ©6085° AB D°¢hed) =

0

00 90
60 fn,

A

|



https://dl.doubtnut.com/l/_vi2P8j5srLxO
https://dl.doubtnut.com/l/_GnhBcdzTv5C8

Answer:

° Watch Video Solution

288. 308 IS ARD0DBAD.

A. sin 45°
B. cot 0°
C.tan0°

D. sec 45°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GnhBcdzTv5C8
https://dl.doubtnut.com/l/_QRa7J45f4e7Y

289. sec 6, tan 65’ DEHD36€30

A.sec’ —tan’0 = 1
B.sec’6 + tan’ 6 = 1
C.tan’0 — sec’0 = 1

D. P33

Answer:

o Watch Video Solution

290. 308 S’ A + B =90" 9085 H0¢5 a0

A.cos A=sin B

B.tan A=cot B


https://dl.doubtnut.com/l/_1YuTADdmu5hG
https://dl.doubtnut.com/l/_8rYNjIvNps0Y

C.cosec A=secB

D. POIQ)

Answer:

o Watch Video Solution

291.secd Qend tan O &

A.1+ tan’@
B.1— tan®#
C.\/1+ tan®4
D.1/1 — tan?0

Answer:



https://dl.doubtnut.com/l/_8rYNjIvNps0Y
https://dl.doubtnut.com/l/_Hd8O4Tl15tj5

{ " Vvaldn viaco >Oiution ]

292. 508 A’ B HSL?

A.sin(90 — 6) = cos 6
B.cot(90 — 0) = tan6
C.sec(90 — ) = cos @

D.tan(90 — ) = cot 0

Answer:

o Watch Video Solution

293. A, B e» @0)Seren B0 LA > £B 0w 08 S

A ea(oe‘ééo?


https://dl.doubtnut.com/l/_Hd8O4Tl15tj5
https://dl.doubtnut.com/l/_kQcKj4TuVv7j
https://dl.doubtnut.com/l/_x4jBDDkBRian

A.sinA > sin B

B.cos A < cos B

C.tanA < tan B

D.sec A < secB

Answer:

o Watch Video Solution

294. cos ecl, cot 0 © 85.)6628 ff© 00200630

A. cos ec?0 + cot? 0 = 1

B.cosec’f — cot’ 0 = 1

1

cot2 6

C. cos ec’ =

D.cot?0 = 1 — cos ec’6


https://dl.doubtnut.com/l/_x4jBDDkBRian
https://dl.doubtnut.com/l/_NICHuVL5DSXC

Answer:

o Watch Video Solution

295. sin 75" + cos 65°& 0° &HB0% 45 © G i DENSES’
TPODMP

A. cos 15° + sin 25°

B. sin 15" + cos 25°

C.sin15% — cos 25°

D. cos 15° — sin 25°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NICHuVL5DSXC
https://dl.doubtnut.com/l/_GSQKuNwqR8xo
https://dl.doubtnut.com/l/_LUKpXoZW4oi8

296. sin 73" + tan 73° © cos, cot &X:&)e‘_é;)e)es& T°ODP

A. cos 73° + cot 73°
B.cos 17° + cot 17°
C.cos 170 — cot 17°

D. cos 73% + cot 73°

Answer:

o Watch Video Solution

297.tanf = p, secf = q 90N p,q © éJC,Ss"cOOZDOC,SO

A.pzzl—i—q2

B.q2:1—|—p2


https://dl.doubtnut.com/l/_LUKpXoZW4oi8
https://dl.doubtnut.com/l/_G3ucnTZbWosz

Answer:

o Watch Video Solution

298. cos ec = m, cot 6 = n 90N 08 IS’ IO INBL0?

Am?:—n?=1
B.secl =

C.cos 0 =

3z 33

D.m2+n2:1

Answer:



https://dl.doubtnut.com/l/_G3ucnTZbWosz
https://dl.doubtnut.com/l/_CIJnV9QySLmK

{ " Vvaldn viaco >Oiution ]

299, sin 0 = x 90 cos b=

Answer:

o Watch Video Solution

300. 2P0 &8 N6 AFH™ QDD 0. 9 5 ecdID

S008 15 eI CTEE 0B €9 €356 TS 45° egagag‘eaoes‘


https://dl.doubtnut.com/l/_CIJnV9QySLmK
https://dl.doubtnut.com/l/_PjZ46RJO5MWK
https://dl.doubtnut.com/l/_EvHd7FW7zwj5

D08050C08. €3 €596 e N0ed ?

o Watch Video Solution

301. 258 B ™AS BN, OAS P 10 ZPAS 30° © $e90 VY
PR DGOY. 3 ecorbderio 06, 308D 3%)%316

&S)C.S?Scﬁféo 6 . B DB ANDOCD €9 FED e D0eh ?

° Watch Video Solution

302. 28 P den BHIITAS w8 FoLrEs w8 wHE
QD JT)ED BOTPODHIYD. TAD 2 DY D, FPNE
30° © %80 SN IG)BIOK00E & APt D DCéeY

)0¢9 G0N0 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_EvHd7FW7zwj5
https://dl.doubtnut.com/l/_QrxISXBUvrVh
https://dl.doubtnut.com/l/_cZZyragWZxaj

303. G0N0 7 K00 15 Y I o (802;50 Q) Acé
P55 54/3 DO, & HHANOS ArEFTETD, ZPWMS o

800 SV 00?

o Watch Video Solution

304. DI 10 D&Y D fo Jogr) 3 O TEY
HH505H063. OBV HHT . 28)3), T {02506 30° $e30

B05&) €508 J0eh D6 T AT ?

o Watch Video Solution

305. 2305 3P &D0G 6 LY DB 110 290z KOG FIPAR

) 28 ©FIQY 60 ) S0 20 FHOTO DT .


https://dl.doubtnut.com/l/_cZZyragWZxaj
https://dl.doubtnut.com/l/_s2nJUx79CN8e
https://dl.doubtnut.com/l/_OR5WuBs9UOgh
https://dl.doubtnut.com/l/_WVwNXnZHxXmh

2305 06 ©%90 J0ed CSTEOS GoLNOE ?

o Watch Video Solution

306.9 06Y I 1o NGRS H020R 28 IVZINONS wDEL)eH
DAB0IrY) €08, DB FoHTrS e Yozso P Sods 1.8
DOY BYH DD BT, 28 AFID WP 60° Teaod
DFD) S A0 DY MO IB)SD ST ? IF)S

e9¢rH2IPH0 D0 08I0 et o Cdrdo 00es?

o Watch Video Solution

307. 255 a5 258 SO TPETS) €08, SE PIPEP0 TR0 €9 HE
B60& 60° © $e30 BL) € T 600 DOP VOPEB0D VIS

=008. €3 38 3¢50 ?

| ﬁlll s 1 we 1 o~ 1 ne®


https://dl.doubtnut.com/l/_WVwNXnZHxXmh
https://dl.doubtnut.com/l/_mkRLyReGB9Hb
https://dl.doubtnut.com/l/_wfm6bf3RN54T

{ " Vvaldn viaco >oiution ]

308. 1.8 Q0. A ) 28 DBV 23 &e] I S0cs 13.2
HOY ErSos war)ch. © B D00DG 063 ok 45°

&aga%‘eao OB & B I N0 ?

o Watch Video Solution

309. $06580&) HDOOS AC= 6 DO.D. AB = 5 0.D. B

ZBAC = 30° @900 8gHz 33°ergd) I0fi coes.

o Watch Video Solution

310. 258 TV 56 28 B¢ 9% QEPDH™ d0BQE ok, B

033 Ji $Hod ©I6 P TEH HBIN0DS 60° @G0


https://dl.doubtnut.com/l/_wfm6bf3RN54T
https://dl.doubtnut.com/l/_0LAyDXbvj46W
https://dl.doubtnut.com/l/_wMVCUTQ5wtbz
https://dl.doubtnut.com/l/_hcGS0qAX9ZMS

SOB. B0 336 Fes0 HBAIL & Frard) I HEF PR 10
e ¢80 2BRS DD 06 P TS 307 &sgydeao Bod.

€056 I SBA B Jesen e S0,

° Watch Video Solution

311. 1.5 0EIY AeBiie) 255 23 30 Y e i) 1HEs 2 TSI
S0e5¢37°558530 O X)Oréeﬁ“@omz\{cé). 9 ) Sen Hod
JD0H IGAS DS HDG0 §S 985D ¥0e35 Sasn S0 30°

0C 60° ©% I8, 9¢5¢8) SGDD GIPB0 D0eh 2.

° Watch Video Solution

312. 2:3' Q0 2 DOY IO DB0R AVBYG €08, TAD
T0eh 380 D0 DIBIOAN 0 D g0 60° HBOSH

809 7110 45° €398 EPED BRI M0 A 0k ?


https://dl.doubtnut.com/l/_hcGS0qAX9ZMS
https://dl.doubtnut.com/l/_OTZMAoHr6fpP
https://dl.doubtnut.com/l/_pj9BzlG2xQdq

o Watch Video Solution

313. 50400 G d DHEIY BIrT0S &d) 28 T €96 Ts)
8 o” ¢5389890 SEOB. &2 HOBT)AS SN DHerq) AoHod.

A. 7meters

B. 3meters

C. 15meters

D. 34meters

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pj9BzlG2xQdq
https://dl.doubtnut.com/l/_KJdDaHxVxiaX

314. 3PS 30°0 @d)98m0 ST 18 g DEDI) 23
BIBRS Sarsy &if esEroore 28 RS H0ogs0 QOBY2C
600, AP e RYD @) FEwor S Soes griio
500, DADS TPAD 25 60° T30 "By 908|208,

B EQB0ST DADS SHD°C 0eh ?

o Watch Video Solution

315. 2% 056 ecrbario 06 85580 P griio 30° sgyteso
IPOB. 25550 EDIHEFH0 DO N6 P o 60° &ag9Seso

BE08. 056 A& 30 DD 900, IS0 &P ¥1FHAD.

° Watch Video Solution



https://dl.doubtnut.com/l/_26ffVQZ8l9ST
https://dl.doubtnut.com/l/_WuhBNt0eYTQY

316. 120 e¢hrbO IEB)S BH AOZTDO HIFS A SORS
Boct Hozren VY G ow. T DR &) B 28
Dot 0% Se3 D PP HBID0IS 9D 60° B
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A.sin @
B. cos 6
C.tan6

D.cot 6
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A. tan 0 S0°e5D
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A.sinf

B.cos 6

C.cos(90 — 0)
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